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Instructions : (1) Figures to the right indicate Full Marks of the questions.
(2) Write answers of any three questions in Section-I and
Write answers of any four questions in Section-I.

SECTION-I

Answer any three of the following questions :

Give the meaning of economic development and economic growth and explain its indicators.

Write a details note on Human development indices.

Explain the Kar] Marx theory of economic growth.

Explain the Schumpeter theory of economic growth.

Discuss the theory of Fei and Ranis.

Explain the Lewis theory of unlimited supply of Labour.
Explain the role of agriculture in economic development.
Explain the pattern of industrialization in development countries.

SECTION-IT
Answer in short two-three line from the following (any four) :
(1) State the assumptions of Ricardo’s theory.
(2 ) Whatis innovation ?
(3) What is Vicious circle of Poverty ?
(4) What is balanced growth ?
(5) What is unbalanced growth ?
(6 ) What is agricultural productivity ?
(7) Whatis Globalization ?

( 8 ) What is circular causation ?
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